NEWALL e
Universal Bracket Kit

Part # UBKO1

This kit mounts two Spherosyn / SHG Series Reader Heads.

294-22530 294-22510 294-22450 294-22460 294-22500
Angle - 3x3” (1) Flat Plate - Flat Plate (1) Flat Bar (1) Angle - 2x2” (1)
Double Slotted (1)

Tie Wrap (10)

10-32 x 3/4" Socket Head Screw (4)

1/4-20 x 3/4” Socket Head Screw (10) 10-32 x 1/2" Set Screw (4)

) " i _ 10-32 x 1/2” Socket Head Screw (6)
10-32 x 1 1/4” Socket Head Screw (4) Oooo #10 Washer (4)

) () O QOOOOOO 1/4” Washer (10)

Some modification of bracketry may be necessary during installation.

NUSA_011305



NEWALL

Part # 294-22500

Bracket Drawings
Universal Bracket Kit
Part # UBKO1

This kit mounts two Spherosyn / SHG Series Reader Heads.

Part # 294-22510

) 63.5(2.5") )
o o
N >
w5 w
5 3
DRILL AND TAP 1/4-20

/

16.0

X 420

3.0

132
20 105
o |
5 @, @
: 4 P
5 j D [$3]
h 34.0 15

“A” holes tapped 1/4-20

Part # 294-22450

Part # 294-22460

Part # 294-22530

76

L%

, 132 | /3 HOLES DRILL 8 7.0
! 49 340 540 /

¥ 1 I {

| 49 é‘} é{f‘ ‘

T

7

118.0

“A" holes tapped 10-32

25.4(17)

9.5(3/8")

N

118 7 8 34.0
-— _ | | N -
34.0 74 ‘ ‘ |
A B _|B B A
B Y- N Ky
? 7 S

34.0 50 R L ‘ il
132 F o, ~ k=

“A” holes tapped 10-32 o e

“B” holes tapped 1/4-20 —

NUSA_011305



Installation Drawings

NEWALL Universal Bracket Kit
Part # UBKO1

This kit mounts two Spherosyn / SHG Series Reader Heads.

294-22500

294-22510
294-22530 _ /

or
294-22500

or
294-22530

I e N s
m

I
294-22450 (3)J

L=

Reader Head (3)

”/7 294-22510

1/4-20 Topped holes may
o be enlarged

Q need t
- for clearance

Lor——m]

[
Reader Head J Z
294-22460

NUSA_011305




